Tableaux des Puissances de Dix (C)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,0001 10 100 1 000
7,19 0,000719 71,9 719 7190
2,38 0,000238 23,8 238 2 380
8,34 0,000834 83,4 834 8 340
9,55 0,000955 95,5 955 9550
4,05 0,000405 40,5 405 4050

X 10 1000 0,0001 100
8,86 88,6 8 860 0,000886 886
4,24 42,4 4 240 0,000424 424
5,39 53,9 5390 0,000539 539
2,32 23,2 2320 0,000232 232
7,48 74,8 7 480 0,000748 748

X 10 000 1000 0,1 0,01
9,74 97 400 9740 0,974 0,0974
7,6 76 000 7 600 0,76 0,076
5,17 51700 5170 0,517 0,0517
3,64 36 400 3 640 0,364 0,0364
8,78 87 800 8 780 0,878 0,0878

X 10 0,0001 0,01 1 000
5,12 51,2 0,000512 0,0512 5120
9,97 99,7 0,000997 0,0997 9970
6,37 63,7 0,000637 0,0637 6370
2,37 23,7 0,000237 0,0237 2370
1,44 14,4 0,000144 0,0144 1440
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